SOLUTION OF A CONTACT PROBLEM FOR AN ELASTIC RECTANGLE

(RESHENIE ODNOI KONTAKTHOI ZADACHI DLIA UPRUGOGO PRIAMOUGOL'NIKA)

PMM Vol. 30, No. 3, 1966, pp. 569-575

P.O. GALFAIAN and K.S. CHOBANIAN (Erevan)

(Received December 16, 1965)

The plane contact problem of the theory of elasticity for a semi-infinite plane, a strip and a quarter-plane has been studied in [1 to 9] and others.

In the present paper the solution of a contact problem for an elastic rectangle is reduced to a quasi-completely regular infinite system of linear algebraic equations with finite absolute terms.

The theory of infinite systems of linear algebraic equations has been successfully applied to the solution of elasticity problems by Koialovich [10], Kantorovich [11], Arutiunian [12] and others.

1. Consider the plane problem of the theory of elasticity for a rectangle (Fig. 1) with symmetrical boundary conditions when the external load is specified on the part of the longer sides of the rectangle $(-2a - l \le x \le -2a, 0 \le x \le l)$ and when the normal displacements and shear stresses are given on the remaining part of the same sides (i.e. under the die). The shear stresses and normal displacements are also specified on the sides x = -2a - l and x = l. In the particular case when these stresses and displacements on the lateral edges and the shear stresses on the longitudinal edges of the rectangle are zero, we have the periodic contact problem for a strip.



We seek a solution to the problem by using an Airy stress function, which in the absence of mass forces satisfies the biharmonic equation within the rectangle $-(2a + l) \le x \le l, -h \le y \le h.$

The stresses and displacements can be expressed in terms of the stress function Φ as follows:

$$\sigma_x = \frac{\partial^2 \Phi}{\partial y^2}, \ \tau_{xy} = -\frac{\partial^2 \Phi}{\partial x \partial y}, \ \ \sigma_y = \frac{\partial^2 \Phi}{\partial x^2}$$
 (1.1)

Solution of a contact problem for an elastic rectangle

$$u = \frac{1}{E} \left\{ \int \frac{\partial^2 \Phi}{\partial y^2} dx - v \frac{\partial \Phi}{\partial r} \right\} - a^* y + b^*$$

$$v = \frac{1}{E} \left\{ \int \frac{\partial^2 \Phi}{\partial x^2} dy - v \frac{\partial \Phi}{\partial y} \right\} + a^* x + c^*$$
(1.2)

Here E is the modulus of elasticity, ν is Poisson's ratio and a^* , b^* and c^* are the constants which determine the rigid-body displacement of the elastic body. By virtue of the symmetry of the boundary conditions about the axes of symmetry of the rectange we need to determine the function $\Phi(x, y)$ only for the first quadrant of the rectangle.

We denote the stress function Φ in the regions 1 and 2 by Φ , and Φ_2 , respectively

$$\Phi(x, y) = \begin{cases} \Phi_1(x, y) & \text{ in region } l \\ \Phi_2(x, y) & \text{ in region } 2 \end{cases}$$
(1.3)

We seek the biharmonic functions Φ_1 and Φ_2 in the form [13 and 14]

wh

$$(0 < x < l, 0 < y < h) \tag{1.5}$$

$$\alpha_k = \frac{k\pi}{a}, \qquad \beta_k = \frac{k\pi}{h}, \qquad \gamma_k = \frac{k\pi}{l}$$
(1.6)

Because of the symmetry of the boundary conditions we have

$$(1.7)$$

$$\begin{aligned} \tau_{xy}(x, 0) &= 0, \quad v(x, 0) = 0 \\ \tau_{xy}(\neg a, y) &= 0, \quad u(-a, y) = 0 \\ \end{aligned} (0 < y < h) \end{aligned} \tag{1.8}$$

The following conditions hold on the contour of the rectangle:

$$\tau_{xy}(l, y) = \sum_{k=1}^{\infty} c_k \sin \beta_k y, \qquad u(l, y) = \frac{d_0}{2} + \sum_{k=1}^{\infty} d_k \cos \beta_k y \qquad (0 < y < h)^{(1.9)}$$

$$v(x, h) = \frac{b_0}{2} + \sum_{k=1}^{\infty} b_k \cos \alpha_k x, \quad \tau_{xy}(x, h) = \sum_{k=1}^{\infty} a_k \sin \alpha_k x \quad (-a < x < 0) \quad (1.10)$$

$$\sigma_{y}(x, h) = \frac{f_{0}}{2} + \sum_{k=1}^{\infty} f_{k} \cos \gamma_{k} x, \ \tau_{xy}(x, h) = \sum_{k=1}^{\infty} e_{k} \sin \gamma_{k} x \qquad (0 < x < l)$$
(1.11)

In addition, on the side common to regions I and 2 the conditions of continuity of the

677

/ · · · · ·

stresses τ_{xy} and σ_x and of the displacements u and v must be satisfied. They are

$$\begin{aligned} \tau_{xy}^{1}(0, y) &= \tau_{xy}^{2}(0, y), & u^{1}(0, y) = u^{2}(0, y) \\ \sigma_{x}^{1}(0, y) &= \sigma_{x}^{2}(0, y), & v^{1}(0, y) = v^{2}(0, y) \end{aligned} \tag{1.12}$$

The superscript indicates from the side of which region the quantities are calculated.

2. Substituting (1.4) and (1.5) into (1.7), we note that the first condition of (1.7) is satisfied identically. From the second condition we have that
(2 1)

$$a^* = e^* = 0$$
 (2.17)

Satisfying conditions (1.8) to (1.11) according to (1.4) to (1.6) and (2.1), we obtain

$$\begin{split} A_{1} &= \frac{Eb_{0}}{2h} + vB_{1}, \qquad b_{1}^{*} = \frac{a}{E} (B_{1} - vA_{1}), \qquad b_{2}^{*} = \frac{d_{0}}{2} - \frac{l}{E} (B_{2} - vA_{2}) \ (2.2) \\ &\qquad (A_{k}^{(1)} + B_{k}^{(1)}) \ \sinh \alpha_{k}h + B_{k}^{(1)}\alpha_{k}h \ \cosh \alpha_{k}h = \frac{a_{k}}{\alpha_{k}^{2}} \\ &\qquad (A_{k}^{(1)} - B_{k}^{(1)}) \ \sinh \alpha_{k}h + B_{k}^{(1)}\alpha_{k}h \ \cosh \alpha_{k}\cosh \alpha_{k} = -\frac{va_{k}}{\alpha_{k}^{2}} - \frac{Eb_{k}}{\alpha_{k}} \ (2.3) \\ &\qquad (C_{k}^{(1)} + F_{k}^{(1)}) \ \sinh \beta_{k}a + (D_{k}^{(1)} + E_{k}^{(1)}) \ \cosh \beta_{k}a + \beta_{k}a \ (E_{k}^{(1)} \sinh \beta_{k}a - F_{k}^{(1)} \cosh \beta_{k}a) = 0 \\ &\qquad (C_{k}^{(1)} - F_{k}^{(1)}) \ \sinh \beta_{k}a + (D_{k}^{(1)} - E_{k}^{(1)}) \ \cosh \beta_{k}a + \beta_{k}a \ (E_{k}^{(1)} \sinh \beta_{k}a - F_{k}^{(1)} \cosh \beta_{k}a) = 0 \\ &\qquad (2.4) \end{split}$$

$$(C_{k}^{(2)} + F_{k}^{(2)}) \sinh \beta_{k} l + (D_{k}^{(2)} + E_{k}^{(2)}) \cosh \beta_{k} l + \beta_{k} l (E_{k}^{(2)} \sinh \beta_{k} l + F_{k}^{(2)} \cosh \beta_{k} l) = \frac{c_{k}}{\beta_{k}^{2}}$$
(2.5)

$$(C_{k}^{(2)} - F_{k}^{(2)}) \sinh \beta_{k} l + (D_{k}^{(2)} - E_{k}^{(2)}) \cosh \beta_{k} l + \beta_{k} l (E_{k}^{(2)} \sinh \beta_{k} l + F_{k}^{(2)} \cosh \beta_{k} l) = -\frac{\mathbf{v}c_{k}}{\beta_{k}^{2}} - \frac{\mathbf{E}d_{k}}{\beta_{k}}$$

$$(A_{k}^{(2)} + B_{k}^{(2)})$$
 sinh $\gamma_{k}h + B_{k}^{(2)}\gamma_{k}h$ cosh $\gamma_{k}h = \frac{\gamma_{k}}{\gamma_{k}^{2}}$ (2.6)

From (1.4), (1.5) and conditions (1.12) we obtain $D_k^{(1)} + E_k^{(1)} = D_k^{(2)} + E_k^{(2)}, \qquad D_k^{(1)} - E_k^{(1)} = D_k^{(2)} - E_k^{(2)}, \qquad b_1^* = b_2^*$ (2.7)

Here b_1^* and b_2^* are the values of b^* in the regions 1 and 2. We introduce the notations

$$B_{k}^{(2)} = \frac{h}{\gamma_{k}} \frac{X_{k}}{\sinh \gamma_{k}h}, \quad D_{k}^{(2)} = \frac{(-1)^{k}l}{\beta_{k}} Y_{k}, \quad E_{k}^{(2)} = \frac{(-1)^{k}l}{\beta_{k}} Z_{k}$$
(2.8)

Making use of (1.4), (1.5), (1.11) and (1.13) together with (2.1) to (2.7), we obtain after some rearrangement the following set of three infinite systems

$$X_{p} = \sum_{k=1}^{\infty} a_{pk} Y_{k} + \sum_{k=1}^{\infty} b_{pk} Z_{k} + m_{p} \qquad (p = 1, 2, 3, \ldots)$$
(2.9)

$$Y_{p} = \sum_{k=1}^{\infty} c_{pk} X_{k} + n_{p}, \qquad Z_{p} = \sum_{k=1}^{\infty} d_{pk} X_{k} + r_{p}$$
(2.10)

where

$$a_{pk} = -\frac{2\gamma_p}{h\zeta_p} \frac{1}{\beta_k^2 + \gamma_p^2}, \qquad b_{pk} = \frac{2\gamma_p}{h\zeta_p} \frac{\beta_k^2 - \gamma_p^2}{(\beta_k^2 + \gamma_p^2)^2}$$
(2.11)

$$c_{pk} = -\frac{4\beta_p}{l\xi_p} \left(\frac{\gamma_k^2}{\gamma_k^2 + \beta_p^2} + \frac{\eta_p}{2\xi_p} \right) \frac{1}{\gamma_k^2 + \beta_p^2}, \qquad d_{pk} = -\frac{2\beta_p}{l\xi_p} \frac{1}{\gamma_k^2 + \beta_p^2}$$
(2.12)

$$m_{p} = \frac{2}{\nu h^{2} \gamma_{p} \zeta_{p}} \sum_{k=1}^{\infty} \left(\frac{a_{k}}{a_{k}} - \frac{e_{k}}{\gamma_{k}} \right) + \frac{2}{h l \gamma_{p} \zeta_{p}} \sum_{k=1}^{\infty} c_{k} \frac{(-1)^{k}}{\beta_{k}} \times \left\{ 1 - (-1)^{p} \frac{\beta_{k}^{2} \left[\beta_{k}^{2} + (2+\nu) \gamma_{p}^{2} \right]}{(\beta_{k}^{2} + \gamma_{p}^{2})^{2}} \right\} - \frac{2E}{h l} \frac{(-1)^{p} \gamma_{p}}{\zeta_{p}} \sum_{k=1}^{\infty} d_{k} \frac{(-1)^{k} \beta_{k}^{3}}{(\beta_{k}^{2} + \gamma_{p}^{3})^{3}} + (2.13)$$

$$\Rightarrow \frac{1}{h \gamma_{p} \zeta_{p}} \left[f_{p} + e_{p} \coth \gamma_{p} h - f_{0} - \frac{E}{l} \left(\frac{a}{h} b_{0} + \frac{d_{0}}{\nu} \right) \right] + \frac{2}{\gamma_{p} \zeta_{p}} \frac{l + (1 - \nu^{3}) a}{\nu h l} B_{1}$$

$$n_{p} = \frac{2}{hl\beta_{p}\xi_{p}} \sum_{k=1}^{\infty} \frac{a_{k}a_{k}}{a_{k}^{2} + \beta_{p}^{2}} \left[\frac{\alpha_{k}^{2} + (2+\nu)\beta_{p}^{2}}{\alpha_{k}^{2} + \beta_{p}^{2}} - \frac{1+\nu}{2\nu} \frac{\eta_{p}}{\xi_{p}} \frac{\alpha_{k}^{2} + (1-\nu)\beta_{p}^{3}}{\alpha_{k}^{2}} \right] + \\ + \frac{2E}{hl} \frac{\beta_{p}}{\xi_{p}} \sum_{k=1}^{\infty} \frac{b_{k}}{\alpha_{k}^{2} + \beta_{p}^{2}} \left(\frac{\alpha_{k}^{2}}{\alpha_{k}^{2} + \beta_{p}^{2}} + \frac{\eta_{p}}{2\xi_{p}} \right) - \frac{2}{hl\beta_{p}\xi_{p}} \sum_{k=1}^{\infty} \frac{c_{k}}{\gamma_{k}} \left(\frac{\gamma_{k}^{2}}{\gamma_{k}^{2} + \beta_{p}^{2}} - \frac{1+\nu}{2\nu} \frac{\eta_{p}}{\xi_{p}} \right) + \\ + \frac{(-1)^{p}(1-\nu)}{2l\beta_{p}\xi_{p}\sinh\beta_{p}l} \left[\left(1 - \frac{1+\nu}{1-\nu}\beta_{p}l\cosh\beta_{p}l \right)c_{p} - \frac{E\beta_{p}}{1-\nu} \left(1 + \beta_{p}l\cosh\beta_{p}l \right)d_{p} \right] + \\ + \frac{(-1)^{p}(1+\nu)}{2l\beta_{p}\sinh\beta_{p}l} \frac{\eta_{p}}{\xi_{p}^{2}} \left(c_{p} + \frac{E\beta_{p}}{1+\nu} d_{p} \right) + \frac{E}{2l^{2}\beta_{p}} \frac{\eta_{p}}{\xi_{p}^{2}} \left(\frac{a+l}{h}b_{0} + \frac{d_{0}}{\nu} \right) - \\ - \frac{(1-\nu^{2})(a+l)}{\nu^{l}\beta_{p}} \frac{\eta_{p}}{\xi_{p}^{2}} B_{1}$$

$$(2.14)$$

$$r_{p} = -\frac{1+\nu}{\nu h l \beta_{p} \xi_{p}} \sum_{k=1}^{\infty} \frac{a_{k}}{\alpha_{k}} \frac{\alpha_{k}^{2} + (1-\nu)\beta_{p}^{2}}{\alpha_{k}^{2} + \beta_{p}^{2}} + \frac{E}{hl} \frac{\beta_{p}}{\xi_{p}} \sum_{k=1}^{\infty} \frac{b_{k}}{\alpha_{k}^{2} + \beta_{p}^{2}} + \frac{1+\nu}{\nu h l \beta_{p} \xi_{p}} \sum_{k=1}^{\infty} \frac{e_{k}}{\gamma_{k}} + \frac{(-1)^{p} (1+\nu)}{2 l \beta_{p} \xi_{p} \epsilon_{m} inh} \frac{1}{\beta_{p} l} \left(c_{p} + \frac{E\beta_{p}}{1+\nu} d_{p}\right) + \frac{E}{2 l^{2} \beta_{p} \xi_{p}} \left(\frac{a+l}{h} b_{0} + \frac{d_{0}}{\nu}\right) - \frac{(1-\nu^{2}) (a+l)}{\nu l^{2} \beta_{p} \xi_{p}} B_{1}$$
(2.15)

$$\xi_p = \coth\beta_p a + \coth\beta_p l, \qquad \eta_p = \frac{\beta_p a}{\sinh^2\beta_p a} + \frac{\beta_p l}{\sinh^2\beta_p l}, \qquad \zeta_p = \coth\gamma_p h + \frac{\gamma_p h}{\sinh^3\gamma_p h} \qquad (2.16)$$

and the relations

$$\frac{l + (1 - v^2) a}{vl} B_1 = \sum_{k=1}^{\infty} (Y_k + Z_k) - \frac{1}{vh} \sum_{k=1}^{\infty} \left(\frac{a_k}{\alpha_k} - \frac{e_k}{\gamma_k} \right) - \frac{1}{l} \sum_{k=1}^{\infty} \frac{(-1)^k c_k}{\beta_k} + \frac{E}{2l} \left(\frac{a}{h} b_0 + \frac{d_0}{v} + \frac{l}{E} f_0 \right), \qquad B_2 = \frac{1}{h} \sum_{k=1}^{\infty} \left(\frac{a_k}{\alpha_k} - \frac{e_k}{\gamma_k} \right) + B_1$$
(2.17)

From (2.2), according to (2.7), we obtain

$$b_1^* = b_2^* = -\frac{va}{2h} b_0 + (1 - v^2) \frac{a}{E} B_1$$
 (2.18)

substituting (2.17) and (2.18) into the third equality of (2.2), we find that

$$A_2 = \frac{1}{\nu h} \sum_{k=1}^{\infty} \left(\frac{a_k}{\alpha_k} - \frac{e_k}{\gamma_k} \right) - \frac{E}{2l} \left(\frac{a}{h} b_0 + \frac{d_0}{\nu} \right) + \frac{l + (1 - \nu^2) a}{\nu l} B_1 \qquad (2.19)$$

Thus the coefficients $A_k^{(1)}$ and $B_k^{(1)}$ can be determined directly from (2.3). The constants b_1^* , b_2^* , A_1 , A_2 and B_2 can be expressed according to (2.2) and (2.17) to (2.19) in terms of B_1 . The coefficients $C_k^{(1)}$, $D_k^{(1)}$, $E_k^{(1)}$, $F_k^{(1)}$, $A_k^{(2)}$, $C_k^{(2)}$ and $F_k^{(2)}$ can be expressed on the basis of (2.4) to (2.7) and (2.8) in terms of X_k , Y_k and Z_k , for the determination of which we have the infinite systems of linear equations (2.9) and (2.10) with absolute terms dependent on B_1 . The coefficient B_1 can be determined from (2.17) using the solutions of (2.9) and (2.10).

3. We shall now prove that the set of infinite systems (2.9) and (2.10) is quasicompletely regular. The sum of the absolute values of the coefficients of equations (2.9) is given by

$$\sum_{k=1}^{\infty} |a_{pk}| + \sum_{k=1}^{\infty} |b_{pk}| = \frac{2\gamma_p}{h\zeta_p} \left[\sum_{k=1}^{\infty} \frac{1}{\beta_k^2 + \gamma_p^2} + \sum_{k=1}^{\infty} \frac{|\beta_k^2 - \gamma_p^2|}{(\beta_k^2 + \gamma_p^2)^2} \right] = \frac{2x_p}{\pi\zeta_p(x_p)} \left[\sum_{k=1}^{\infty} \frac{1}{k^2 + x_p^2} + \sum_{k=1}^{\infty} \frac{|k^2 - x_p^2|}{(k^2 + x_p^2)^2} \right] \quad (p = 1, 2, \ldots)$$
(3.1)

where

$$x_p = \frac{\gamma_p h}{\pi} = p \frac{h}{l} \qquad \zeta_p (x_p) = \coth x_p \pi + \frac{x_p \pi}{\sinh^2 x_p \pi} \qquad (3.2)$$

$$\sum_{k=1}^{n} |a_{pk}| + \sum_{k=1}^{n} |b_{pk}| =$$

$$= \frac{2x_p}{\pi \zeta_p(x_p)} \left[\sum_{k=1}^{\infty} \frac{1}{k^2 + x_p^2} \mp \sum_{k=1}^{k_p^\circ} \frac{k^2 - x_p^2}{(k^2 + x_p^2)^2} + \sum_{k_p^\circ + 1}^{\infty} \frac{k^2 - x_p^2}{(k^2 + x_p^2)^2} \right] \quad (3.3)$$

Here k_p° is an integer defined for the integers $k \leq k_p^{\circ}$ by the inequality

$$k^2 - x_p^2 \leqslant 0 \tag{3.4}$$

From (3.4) we obtain

$$k_p^{\circ} \leqslant x_p \tag{3.5}$$

From (3.5) we have, for the expression (3.3),

$$\sum_{k=1}^{\infty} |a_{pk}| + \sum_{k=1}^{\infty} |b_{pk}| = \frac{2x_p}{\pi\xi_p(x_p)} \left[\sum_{k=1}^{\infty} \frac{1}{k^2 + x_p^2} + \sum_{k=1}^{\infty} \frac{k^2 - x_p^2}{(k^2 + x_p^2)^2} - 2 \sum_{k=1}^{k_p^{\circ}} \frac{k^2 - x_p^2}{(k^2 + x_p^2)^2} \right] = \frac{2x_p}{\pi\xi_p(x_p)} \left[\frac{\pi}{2x_p} \left(\operatorname{coth} x_p \pi - \frac{1}{x_p \pi} \right) + \frac{\pi}{2x_p} \left(1 - \frac{x_p^2 \pi^2}{\sin^2 x_p \pi} \right) \frac{1}{x_p \pi} + 2x_p^2 \sum_{k=1}^{k_p^{\circ}} \frac{1}{(k^2 + x_p^2)^2} - 2 \sum_{k=1}^{k_p^{\circ}} \frac{1}{(k^2 + x_p^2)^2} \right] = \frac{2x_p}{\pi\xi_p(x_p)} \left[\frac{\pi}{2x_p} \left(\operatorname{coth} x_p \pi - \frac{x_p \pi}{\sin^2 x_p \pi} + \frac{1}{x_p \pi} + \frac{1}{1 + x_p^2} + \frac{1}{1 + x_p^2} \right) \right] = \frac{2x_p}{k_p^{\circ}} \left[\frac{1}{(k^2 + x_p^2)^2} \right]$$

$$+\frac{2}{\pi}\left(1+\tan^{-1}\frac{1}{x_p}\right)\right]=f(x_p)$$

Here we have used the following sums and inequalities [15]:

$$\sum_{k=1}^{\infty} \frac{1}{k^2 + x_p^2} = \frac{\pi}{2x_p} \left(\coth x_p \pi - \frac{1}{x_p \pi} \right)$$
(3.7)

$$\sum_{k=1}^{\infty} \frac{1}{(k^2 + x_p^2)^2} = \frac{\pi}{4x_p^3} \left(\coth x_p \pi + \frac{x_p \pi}{\sinh^2 x_p \pi} - \frac{2}{x_p \pi} \right)$$
(3.8)

$$\sum_{k=1}^{\infty} \frac{k^2}{(k^2 + x_p^2)^2} = \frac{\pi}{4x_p} \left(\coth x_p \pi - \frac{x_p \pi}{\sinh^2 x_p \pi} \right)$$
(3.9)

$$\sum_{k=1}^{k_p^{\bullet}} \frac{1}{(k^2 + x_p^2)^2} \leqslant \int_0^{k_p^{\bullet}} \frac{dk}{(k^2 + x_p^2)^2} \leqslant \frac{1}{4x_p^3} \left(1 + \frac{\pi}{2}\right)$$
(3.10)

$$\sum_{k=1}^{k_{p}^{o}} \frac{k^{2}}{(k^{2} + x_{p}^{2})^{2}} \geqslant \int_{1}^{k_{p}^{o}} \frac{k^{2}dk}{(k^{2} + x_{p}^{2})^{2}} \geqslant \int_{1}^{x_{p}} \frac{k^{2}dk}{(k^{2} + x_{p}^{2})^{2}} - \frac{1}{4x_{p}^{2}} = \frac{1}{4x_{p}} \left(\frac{\pi}{2} - 1 - \frac{1}{x_{p}} \frac{1 - x_{p}^{2}}{1 + x_{p}^{2}} - 2 \tan^{-1} \frac{1}{x_{p}}\right)$$
(3.11)

We find from (3.2) and (3.6) that

$$\lim_{x_p \to \infty} f(x_p) = 1 + \frac{2}{\pi}$$
(3.12)

For the second system of (2.10) we obtain

$$\begin{split} &\sum_{k=1}^{\infty} |c_{pk}| = \frac{4\beta_p}{l\xi_p} \left[\sum_{k=1}^{\infty} \frac{\gamma_k^2}{(\gamma_k^2 + \beta_p^2)^2} + \frac{\eta_p}{2\xi_p} \sum_{k=1}^{\infty} \frac{1}{\gamma_k^2 + \beta_p^2} \right] = \frac{4y_p}{\pi\xi_p (y_p)} \left[\sum_{k=1}^{\infty} \frac{k^2}{(k^2 + y_p^2)^2} + \frac{1}{2} \frac{\eta_p (y_p)}{\xi_p (y_p)} \sum_{k=1}^{\infty} \frac{1}{k^2 + y_p^2} \right] = \frac{1}{\xi_p (y_p)} \left[\operatorname{coth} y_p \pi - \frac{y_p \pi}{\operatorname{sinh}^2 y_p \pi} + \frac{\eta_p (y_p)}{\xi_p (y_p)} \left(\operatorname{coth} y_p \pi - \frac{1}{y_p \pi} \right) \right] = \\ = \varphi (y_p) \end{split}$$

where

$$y_p = \frac{\beta_p l}{\pi} = p \frac{l}{h} , \quad \xi_p(y_p) = \coth y_p \pi + \coth \frac{y_p \pi a}{l} , \quad \eta_p(y_p) = \frac{y_p \pi}{\sinh^2 y_p \pi} + \frac{y_p \pi a/l}{\sinh^2 (y_p \pi a/l)}$$

From (3.13) and (3.14) we find that

$$\lim \varphi (y_p) = \frac{1}{2} \qquad (y_p \to \infty) \tag{3.15}$$

For the sum of the absolute values of the coefficients of the third equation of (2.10) we have

$$\sum_{k=1}^{\infty} |d_{pk}| = \frac{2\beta_p}{l\xi_p} \sum_{k=1}^{\infty} \frac{1}{\gamma_k^2 + \beta_p^2} = \frac{2y_p}{\pi\xi_p} \sum_{k=1}^{\infty} \frac{1}{k^2 + y_p^2} = \frac{1}{\frac{1}{\xi_p}(y_p)} \left(\operatorname{coth} y_p \pi - \frac{1}{y_p \pi} \right) = \psi(y_p)$$
(3.16)

From the inequalities

$$\operatorname{coth} y_p \pi - \frac{1}{y_p \pi} \leq 1, \quad \operatorname{coth} y_p \pi + \operatorname{coth} \frac{y_p \pi a}{l} \geq 2 \quad \text{for} \quad 0 \leqslant y_p \pi \leqslant \infty \quad (3.17)$$

and from Formula(3.16) we obtain

$$\psi(y_p) \leqslant 1/2$$
 for $0 \leqslant y_p \leqslant \infty$ (3.18)

Thus, from (3.12), (3.15) and (3.18) we have the following estimates for the sum of the moduli of the coefficients of each line of the infinite system (2.10) for $0 \leqslant y_p \leqslant \infty$ (3.19)

$$\lim_{x_{p} \to \infty} \left\{ \sum_{k=1}^{\infty} |a_{pk}| + \sum_{k=1}^{\infty} |b_{pk}| \right\} \leqslant 1 + \frac{2}{\pi}, \quad \lim_{y_{p} \to \infty} \sum_{k=1}^{\infty} |c_{pk}| = \frac{1}{2}, \quad \sum_{k=1}^{\infty} |d_{pk}| \leqslant \frac{1}{2}$$

Substituting Y_p and Z_p from the second and third systems of (2.10) into the first, and X_p from the first into the remaining ones, we obtain an infinite system in the unknowns X_p , Y_p and Z_p

$$X_{p} = \sum_{k=1}^{\infty} \sum_{n=1}^{\infty} (a_{pk}c_{kn} + b_{pk}d_{kn}) X_{n} + \sum_{k=1}^{\infty} (a_{pk}n_{k} + b_{pk}r_{k}) + m_{p}$$

$$Y_{p} = \sum_{k=1}^{\infty} c_{pk} \left(\sum_{n=1}^{\infty} a_{kn}Y_{n} + \sum_{n=1}^{\infty} b_{nk}Z_{n} \right) + \sum_{k=1}^{\infty} c_{pk}m_{k} + n_{p}$$

$$Z_{p} = \sum_{k=1}^{\infty} d_{pk} \left(\sum_{n=1}^{\infty} a_{kn}Y_{n} + \sum_{n=1}^{\infty} b_{kn}Z_{n} \right) + \sum_{k=1}^{\infty} d_{pk}m_{k} + r_{p}$$
(3.20)

For the sums of the absolute values of the coefficients of system (3.20), according to (3.19), we have the following estimates:

$$\lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{k=1}^{\infty} \sum_{n=1}^{\infty} |a_{pk} c_{kn} + b_{pk} d_{kn}| \leq \lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{k=1}^{\infty} |c_{kn}| + \lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{k=1}^{\infty} |c_{kn}| \left(\sum_{k=1}^{\infty} |a_{pk}| + \sum_{k=1}^{\infty} |b_{pk}| \right) = \lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{n=1}^{\infty} |d_{kn}| + \sum_{k=1}^{\infty} |b_{pk}| = \lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{n=1}^{\infty} |d_{kn}| + \sum_{k=1}^{\infty} |b_{pk}| = 0.5 \cdot 1.6366 = 1 - 0 \quad (3.21)$$

$$\lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{k=1}^{\infty} |c_{pk}| \left(\sum_{n=1}^{\infty} |a_{kn}| + \sum_{n=1}^{\infty} |b_{kn}| \right) \leq \frac{1}{2} \left(1 + \frac{2}{\pi} \right) = 0.5 \cdot 1.6366 = 1 - 0 \quad (3.21)$$

$$\lim_{\substack{x_{D} \to \infty \\ y_{D} \to \infty}} \sum_{k=1}^{\infty} |d_{pk}| \left(\sum_{n=1}^{\infty} |a_{kn}| + \sum_{n=1}^{\infty} |b_{kn}| \right) \leq \frac{1}{2} \left(1 + \frac{2}{\pi} \right) = 0.5 \cdot 1.6366 = 1 - 0 \quad (0 = 0.1817)$$

Note that the estimates (3.19) which were derived for $x_p \to \infty$ and $y_p \to \infty$ are already valid, for $x_p \ge 5$ and $y_p \ge 5$.

In addition, from (3.6), (3.13) and (3.16) we easily see that

$$\lim f(x_p) = \frac{1}{2} \quad \text{as} \quad x_p \to 0, \qquad \lim \varphi(y_p) = \lim \psi(y_p) = 0 \quad \text{as} \quad y_p \to 0$$

and the sums of absolute values of the coefficients of systems (3.20) tend to zero. This enables us to obtain an approximate solution for the infinite systems with a high degree of accuracy.

Thus, on the basis of (3.21) the infinite system (2.10) is, for arbitrary ratio of a, l and h and any possible value of Poisson's ratio, quasi-completely regular [11]. As can be seen from (2.11) to (2.15) and (3.20) the absolute terms of the infinite systems (2.10) and (3.20) are of the order of the Fourier coefficients of expansions (1.9) to (1.11). Consequently, they are finite and of the order of not less than p^{-1} if the external load and the first derivatives of the displacements $v^{-1}(x, h)$ and $u^2(l, y)$ are, in the given range, piecewise continuous.

The quasi-complete regularity of the infinite system (2.10), together with the finiteness of the absolute terms in (2.13) to (2.15), enables us to evaluate the required coefficients of the expansions of $\Phi(x, y)$ (1.4) and (1.5) with any degree of accuracy [14]. On this basis we can evaluate the upper and lower bounds for the stresses σ_x , σ_y and τ_{xy} and the displacements u and v.

Note that the series which define the required stresses and displacements are divergent on the sides of the rectangle. In order, therefore, to determine the nature of the variation of these quantities (and this includes the pressure under the die) it is necessary to evaluate them at internal points very close to the boundary [14] where these series converge as geometrical progressions.

The solution of the contact problem for a rectangle when only the stresses are specified everywhere on the boundary outside the contact area, together with numerical examples illustrating the effect of external load and ratios of the dimensions of the rectangle to the length of contact, will be the subject of a later paper by the authors.

BIBLIOGRAPHY

- Muskhelishvili, N.I. Nekotorye osnovnye zadachi matematicheskoi teorii uprugosti (Some Fundamental Problems of the Mathematical Theory of Elasticity). Izd-vo. Akad Nauk SSSR, 1954.
- Abramov, V.M. Problema kontakta uprugoi poluploskosti s absoliutno zhestkim fundamentom pri uchete sil treniia. (The contact problem of an elastic half-plane with an absolutely rigid foundation in presence of frictional forces). Dokl. Akad. Nauk SSSR, Vol. 17, No. 4, 1937.
- Shtaerman, I.Ia. Kontaktnaia zadacha teorii uprugosti (The Contact Problem of the Theory of Elasticity). Gostekhizdat, 1949.
- 4. Galin, L.A. Kontaktnye zadachi teorii uprugosti (Contact Problems of the Theory of Elasticity). Gostekhizdat, 1953.
- 5. Sherman, D.I. Ploskaia zadacha teorii uprugosti so smeshannymi usloviiami (The plane problem of the theory of elasticity with mixed boundary conditions) Tr. Seismolog.

in-ta Akad Nauk SSSR, No. 88, 1938.

- Belen'kii, M.Ia. Smeshannaia zadacha teorii uprugosti dlia beskonechno dlinnoi polosy (The mixed problem of the theory of elasticity for an infinitely long strip). *PMM* Vol. 16, No. 3, 1952.
- Borodachev, N.M. Ploskaia kontaktnaia zadacha dlia uprugogo tela konechnoi shiriny (The plane contact problem for an elastic body of finite width). Izv. Akad. Nauk SSSR, OTN, Mekhanika i mashinostroenie, No. 6, 1962.
- Popov, G.Ia. K resheniiu ploskoi kontaktnoi zadachi teorii uprugosti pri nalichii sil stsepleniia ili treniia (On the solution of the plane contact problem of the theory of elasticity in the presence of cohesive or frictional forces) Izv. Akad. Nauk ArmSSR. Ser. fiz.-matem. n. Vol. 16, No. 2, 1963.
- 9. Tonoian V.S. Ploskaia kontaktnaia zadacha dlia uprugoi chetvert' ploskosti s nepodvizhnoi vertikal'noi kromkoi (The plane contact problem for an elastic quarterplane with a fixed vertical edge). Dokl. Akad. Nauk ArmSSR, Vol. 37, No. 5, 1963.
- Koialovich, B.M. Issledovaniia o beskonechnykh sistemakh lineinykh uravnenii (Studies of infinite systems of linear equations). Tr. fiz.-matem. in-ta im. V.A. Steklova, Vol. 3, 1930.
- 11. Kantorovich, L.V. and Krylov, V.I. Priblizhennye metody vysshego analiza (Approximate Methods of Higher Analysis) Gostekhizdat, 1962.
- Arutiunian, N.Kh. Reshenie zadachi o kruchenii sterzhnei noligonal'nogo poperechnogo secheniia (Solution of the problem of torsion of rods of polygonal cross-section) *PMM* Vol. 13, No. 1, 1949.
- Abramian, B.L. K ploskoi zadache teorii uprugosti dlia priamougol'nika (On the plane problem of the theory of elasticity for a rectangle). *PMM* Vol. 21, No. 1, 1957.
- 14. Galfaian, P.O. Reshenie odnoi smeshannoi zadachi teorii uprugosti dlia priamougol'nika (Solution of a mixed problem of the theory of elasticity for a rectangle). Izv. Akad. Nauk ArmSSR., Ser. fiz.-matem. n., Vol. 17, No. 1, 1964.
- Gradshtein, I.S. and Ryshik, I.M. Tablitsy integralov, summ, riadov i proizvedenii (Tables of Integrals, Sums, Series and Products) Fizmatgiz. 1962.

Translated by J.K.L.